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uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u djuk 
vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 
Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 
(UNIT—1) 

1- d”̀kd lekt ls vki D;k le>rs gSa \ d”̀kd lekt dh izeq[k 
fo’ks”krkvksa dk o.kZu dhft,A 
What do you understand by agrarian society ? Discuss the 
main characteristics of agrarian society. 

vFkok 
(Or) 

xzkeh.k lekt ls D;k rkRi;Z gS \ xzkeh.k lkekftd lajpuk dk o.kZu 
dhft,A 
What is meant by Rural Society ? Describe rural social 
structure. 
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bdkbZ&2 
(UNIT—2) 

2- xzkeh.k ikfjokfjd lajpuk dks le>kb,A 

Explain rural family structure. 

vFkok 

(Or) 

xzkeh.k vkoklh; lajpuk dks le>kb,A 

Explain rural habitat structure. 

bdkbZ&3 

(UNIT—3) 

3- Hkwfeghu Jfed ls vki D;k le>rs gSa \ Hkwfeghu Jfedksa dh izeq[k 

leL;kvksa dks le>kb,A 

What do you understand by landless labour ? Explain the 

major problems of landless labours. 

vFkok 

(Or) 

xzkeh.k xjhch D;k gS \ xzkeh.k xjhch ds dkj.kksa dks le>kb,A 

What is Rural Poverty ? Explain the causes of rural poverty. 

bdkbZ&4 

(UNIT—4) 

4- iapk;rh jkt O;oLFkk ls D;k rkRi;Z gS \ iapk;rh jkt O;oLFkk ds 

egRo dks Li”V dhft,A 

What is meant by Panchayati Raj System ? Clarify the 

importance of Panchayati Raj System. 
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vFkok 

(Or) 

,dhd̀r lefUor fodkl dk;ZØe ds mís’;ksa dh foospuk dhft,A 

Discuss the aims of Integrated Rural Development 
Programme. 

bdkbZ&5 

(UNIT—5) 

5- Hkkjr esa d”̀kd vkUnksyu ij ,d fucU/k fyf[k,A 

Write an essay on agrarian movements in India. 

vFkok 

(Or) 

Xykscykbts’ku D;k gS \ df̀”k ij Xykscykbts’ku ds izHkko dks 
le>kb,A 

What is Globalization ? Explain the impact of globalization 
on agriculture. 
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